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1 Choose the best answer from the given options.The people screamed _____ ran in different
directions when the lorry crashed into the roadside stall

A. and
B. neither
C. if
D. but

2 Choose the best answer from the given options. Mr. James cannot speak English _____ he
can speak Mandarin very well

A. because
B. but
C. since
D. while

3 Complete the sentence by choosing the best option.The injured boy must receive medical
attention at once _____ he will die

A. and
B. or
C. but
D. nor

4 Complete the sentence by choosing the best option.The children are tired _____ happy after
their trip to the zoo

A. But
B. if
C. when
D. as

5 Select the option that best describes the sentence. Pauline and Bruno have a big argument
every summer over where they should spend their summer vacation

A. Compound Sentence
B. Compound-Complex Sentence
C. Simple Sentence
D. Complex Sentence

6 What is true of the following example? He doesn't like her, but he wants her to like him

A. It is a compound sentence
B. It is a compound-complex
sentence.
C. It is a complex sentence
D. It is a simple sentence

7 What is true of the following example? If society as a whole cannot be rejuvenated, the
individual needs to work for personal certainty

A. It contains an appositive phrase
B. It contains an adjectival clause
C. It contains an adverbial clause
D. It contains a noun clause

8
Fill in the blank with appropriate parallel structure. In the years following the American
Revolution and prior to the establishment of a national government, Washington provided
the fledgling country with keen economic insight, _________ and astute international
judgment.

A. sense of domestic stability
B. a recognition of stability that was
domestic
C. to stabilize the domestic situation
D. which was domestically stable

9 When a person gives his judgment, assessment or evaluation of something, what it will be
called?

A. Fact
B. vision
C. Analysis
D. Opinion

10 Indicate the correct form of verb in the sentence given below. The population has increased
by 6% since 1970

A. Present
B. Infinitive
C. -ing
D. -ed


